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-The figures in the margin indicate full marks _
for the questions.

Answer either in English or in Assamese.

iaaiﬁtwatwm@wwl

1. Answer the followmg questions : 1><10=10‘ :
TN BN Bex B o |
() Give an example of ‘Singleton- set’.
. G e AT «ﬂﬁ \CLES ﬁ’m

(n) What is the value of log’ 1000 ?
log 1000% = R ¢
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(111) What is the value of 5P ?
5P? W B o
~ (iv) State whether the following .reléti_onship is
. correct or not. o
TR D! U T %fzm
*C;="C -1
(v) Define ‘Unit matrix’.
GTF (NEH] TR ﬁ‘ﬂTl

(vi) Choose the correct answer :
o B! e =t
- The line y = 5x is:
| y = 5x (QE ¢ '.

(a) Parallel fp the x-éxis'

(b) Parallel to the y-axis .
y W WIS

(c) Pependicﬁlar to the x-axis
X WY GRS 7Y

(d) Passing through the origin.
T R eews stz T
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(vii) Fill-in the blank : (anﬁﬁ 3 vzcmf)
d/dx (logx) =.....

(viii) Fill im the~blank‘: (A ST )
- d/dx (TR) = ...... _

where ‘x’ denotes the volume of output.
TS x-@ Tetifite AR iR T@R

(ix) Define “objective function.s”. associated

"~ with linear programming,

WRE g T wive “wfters TS
et e

2. 'Answer the following questions . 2x5=10
R @ﬁ@iﬁﬁ ey fordl ¢

(i) Find the elghth term and tenth term of the
series :. 2, 4, 8, 16 ......

2,4,8,16 ......c4TBR S i T A7 WA

-y . . | _

(i) X and Y are two sets such that n(X uY)
- =50, n(X) = 28, n(Y) = 32. Find n(X n Y)-

~XWYW@TWWD(XA Y) 50,
n(X) = 28 & n(Y) = 32. n(me)f?I‘f‘I
ol
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(iii) Prove that (2S94 31 Q@) ¢

log, abc log, abc - log, abc

" (iv) Find the slope of the line passing through the

points (-3, —5) and (7, 9).

(-3, -5) == (7, 9) ﬁﬁsnﬁ’r cwlaaf%am
e

) Find d/dx (x. log x).
d/dx (x.logx) <@ 71
AmWer the following questiohs T 5%x4=)0
o efiReTR Tew ol ¢
(a) Prove that (=9 3= Q)

1+a 1 1
- 1+a  1|=a’@+3) .
1 1 1+a
'Or/W'.

| [3
Show that the matrix A =[_ i ;] satisfies the
following matrix equation: -
A?-5A +71=0, where 0 denotes the 2x2

L, 10]
- zero matrix and I=[O l]'
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| S @ A= [i;
AR B TR 2

A2-5A+7I=0 & 0 2x2 *1?{1 e
renp— I‘_[l o]

01

]mwﬁﬁ@m

s

() If ) log X = logy _ logz |
-z zZ-X X-y .
then prove that (CST® ‘aﬂt‘t = m) c
COxX, y.zE= 1. §
(c) A man saved Rs. 16,500 in ten years. In each
: year after the first, he saved Rs.100 more than
he did in the preceding years. How much did
he. save in the first year ?
GG TZ 7E IES 16,500 Bl Feen SRR
N F29 o] ATSTH! 7T (od wise ITOT

100 Tt @fRe AT IREE | wgmew 4L
M@WW’W‘IW ?

' Or/‘sl’lﬁi

If a% = b =-¢!'z and a, b, ¢ are in G.P, prove
that-x, y, z are in AP. ( :
TR al = py = ¢z o va, b, ¢ araes A9ifSS
AT, A T @ x, y, z A AT AT |
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(d) A sum of. money ‘invested at compound

interest amounts to Rs. 2,916 at the end of .

‘ two years and to Rs. 3,149.28 at the end of

¢  three years. Find the sum and the rate of
.~ compound interest.

Wﬁq@—mﬁ%qﬁmﬂ 2 I7T Porws
2916 Tt Wi TSR 7237 g 3,149.28 Bt =37
qﬁmwmﬁwmﬁcﬁWI o

Or/ W@

»  Inhow many years will an annuity of Rs. 400
amounts to Rs. 4064 at 3% p.a. compound
interest ? [Given : log 1.03 = 0. 0128 and log
(1 .3048) = 0.1155]

?Eﬁ3%mﬁmmﬁmaw4oow .
: mﬁ‘aﬁaﬂqﬁqammﬁﬁi‘a? |

(e) A committee of 5 is to be formed out of 7
male entrepreneurs and 4 female entrepre-

neurs. In how many ways the committee can -

' be formed if at least one female entrepreneur
is to be included in it ?

7mqu4mwﬁwwwm
{5 TN A 997 A IR e
T|AC QRPN TR AR
TEYE FRI A, mﬁsmamaﬁ%am
smasﬁaﬂarm?
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Or/WQRlT

Of the 100- boarders of a hostel 80 drmk tea,
40 drink coffee and 25 drink tea and coffee
both How many of them drmk neither tea

nor coffee ? :
wmwwommﬁasowm
40 T I O 25 T BIE W I GEARY
AW mmwﬁmnmmmﬁm
WA

4, (a) Solve the followmg system of equatlon by
using Cramer’s rule: . 7

R FamE ] ﬂﬁ?ﬁ‘l’@iﬁt iy 39 8
x+ty+z=3
: 2x—,3y+'5z=4
X+2y-4z=-1
Or / =2l
A manufacturer produces three products A,
B and C and sells in two markets. Annual

sales of these products in the two markets
are given below : 7

GT TAMTRINCH A, B e C oy T

- el TR AE (R Teoifte ARTITR T
RS R I | Io1 e @ AW (R
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Products

‘; Market I 10 000 2,000 8,000
@D unis  units units
 Market T 6,000 20,000 4,000

@@Il)  units units  units

(i) Ifthe unit sales price of A,Band C are '
Rs. 25, Rs. 12 and Rs. 15 respectively,
find the total revenue in each market.

TR A, B i C @3 A Rk oS g -
RIS e 25 5, 12 Bt o 15 5 =3,
Corw AfSdm e P Rl =i [efa w1

(ii) Tf the unit cost of products A, B and C
are Rs. 18, Rs.10 and Rs. 8 respectively,
- find the gross profit.

M A, B W C At fofifem ofs
@W@emmmlsﬁﬂ 10 St
WSWQ,mquﬁfﬁqW|

|-

(b) In how many ways the letters of the. word
“ACCOUNTANTS” can be arranged ? 3

“ACCOUNTANTS” *FWBH HI{ER ﬁﬂﬂ |
HITIR AGH vnf% ?
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5. (a) Establish the equatlon of a lme in the form

Yy S=mx +e | 5
y= m+cmwﬁwﬁﬂﬂ“
10

(b) The amount demanded of a commodity is
zero units when the price is Rs. 100 and 1000 -
units when the price is zero. If the “demand
‘curve is assumed to be a straight line, find
its equation. = 3

maﬁwwloowmw =
PR 2R T W T IFHR FoI T
. TCE |WR SR SRk lOOOé,]W?&IIFﬁWT
whﬂaqﬁﬁﬁmﬁwﬁﬁﬂl

Or / 523t B

~ Find the equation of the line passm° through
the point of intersection of the lines 2x — 3Y
 +4=0and 3x + 4y — 5= 0 and perpendicular
to the line 6x — Ty + 8 = 0. 3

2% — 3y+4 = 0 1% 3x + dy — 5= 0 (I TOET
R W R W 6x — 7y + 8 = 0
(RN 777 @I T Sferedt |
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6. (@ () If (21117‘) flx) = -iaf-—-'-—b-, prove that (et

f ——1
= C?I) (x) ) |
. < . : . . ~ 3
(i) Evaluate : (W= Refa 31)
X —x-2 ‘ , ,
e 2

)

Or/ WQRIT_

Find (i) the average revenue function (AR)

and (ii) the marginal revenue function (MR)

for the following total reventie function (TR). -

TR=27Q- QB+ Q. 342=5
©oe g Rt =iw e (TR) AT (i) oo Rt

. I T (AR), (u)a‘lﬁaSﬁzﬁwmavm)
- fRefa =

=27Q - Q2/3 +Q?
Or /9131

Show that the maximum value of x + 1/x is
less than its minimum value.

ST @ x+1/x T ARET AR 7|
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7. (a) Integrate any two of the following :
: 2x2=4
R R @I @R o AR W 2

@ Jek+g J"

x—'3
.(“)I 3x+11dx

(ii-i) fEx? +5x+ 10)dx. |

Or/WQHT

If the margmal revenue function is R’(x) =.
8-6x+2x2 determine the total revenue
~ function and demand function. 4

ﬂﬁmﬁ@mmm(x)-s 6x + 2%

mqhﬁzﬁwmwfiﬁwﬁ‘ﬁ
aan

'(b)- Define “linear programmingf’ Discuss briefly
the importance and limitations of linear
Pl'Ograrmnmg - .6
TR vmwer e fEl R 4w

et i Mae! T S
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Or / w2l

Solvé “the following linear programming

_problem by graphical method : C 6
oY RS AT WO @ 9['5%@ LT
. W e .

Maximize Z = 8x + 5y
Subject to the constraints
x < 150
X +y<250
2x+y< 500
X, y>0.
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